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QUESTION 1

You create a Snapshot copy of a new volume. 

Which activity increases the size of the new Snapshot copy? 

A. deleting data that was written to the volume after the Snapshot copy was created 

B. writing new data to the volume after the Snapshot copy was created 

C. reading data that was written to the volume before the Snapshot copy was created 

D. deleting data that was written to the volume before the Snapshot copy was created 

Correct Answer: D 

 

QUESTION 2

Which three objects are restorable from a FlexVol Snapshot copy? (Choose three.) 

A. FlexVol volume 

B. file 

C. NFS export 

D. LUN 

E. qtree 

Correct Answer: ABD 

 

QUESTION 3

An administrator encountered a ransomware attack that affected the active file system datA. They have been creating
Snapshot copies on an hourly schedule. They determine that the entire volume needs to be recovered. 

In this scenario, which command would you use? 

A. volume snapshot restore 

B. volume snapshot modify 

C. volume snapshot create 

D. volume snapshot delete 

Correct Answer: A 
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QUESTION 4

Click the Exhibit button. 

Assuming that the export policy on the storage allows access, you want to enable client access to thefinancevolume in
thedepartmentsSVM in the /tmp/fin directory. 

Referring to the exhibit, which UNIX command must be executed to accomplish this task? 

A. mount –t nfs –o nfsvers=3 cluster01:/finance /tmp/fin 

B. mount –t nfs –o nfsvers=3 cluster01:/fin /tmp/fin 

C. mount –t nfs –o nfsvers=3 cluster01:/dept/fin /tmp/fin 

D. mount –t nfs –o nfsvers=3 cluster01:/departments/finance /tmp/fin 

Correct Answer: D 

 

QUESTION 5

You use the Automated Workload Analyzer (AWA) to identify workloads that would benefit from which feature? 

A. Flash Pool aggregates 

B. Advances Disk Partitioning 

C. storage efficiency 

D. FabricPool capacity tier 

Correct Answer: A 
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